Risk Perception Questionnaire

Informed Consent Information

This questionnaire is for research that is investigating how people's general level of numeracy, scientific literacy, and social attitudes influences their perceptions of risk from environmental problems.  Your participation would involve answering questions on scientific and mathematical topics and your attitudes and should take approximately 20 minutes.  There are no risks or direct benefits associated with participating in this research.  

Participation in this research is fully voluntary.  You have the right to stop at any point.  Participation is strictly anonymous and all data from this research will be kept secure and confidential by the researchers.  The researchers will be glad to answer any of your questions when you have finished the study.

This research is being conducted by Lyndsay Delello, Fabiana Martinez, and Megan Norton, first-year students at Holy Cross, and John Little, a professor in the Mathematics and Computer Science Department at Holy Cross (508 793-2274; jlittle@holycross.edu) 

Numeracy (Questions taken from original Yale Cultural Cognition Project risk perception survey)  Participants type in answers, no multiple choice prodding

Imagine that we roll a fair, six-sided die 1,000 times. (That would mean that we roll one die from a pair of dice.) Out of 1,000 rolls, how many times do you think the die would come up as an even number? [Correct Answer: 500]

If Person A’s risk of getting a disease is 1% in ten years, and Person B’s risk is double that of A’s, what is B’s risk? [Correct Answers: 1% in 5 years, 2% in 10 years]

A bat and a ball cost $1.10 in total. The bat costs $1.00 more than the ball. How much does the ball cost?  [Correct Answer: $0.05]

In a lake, there is a patch of lilypads. Every day, the patch doubles in size. If it takes 48 days for the patch to cover the entire lake, how long would it take for the patch to cover half of the lake? 

[Correct Answer: 47 days]

If the chance of getting a disease is 20 out of 100, this would be the same as having a __% chance of getting the disease.  [Correct Answer:  20%]

Science Literacy(Questions taken from original risk perception survey)

Click true or false

The center of the Earth is very hot [true/false]  [Correct Answer: True]

Lasers work by focusing sound waves [true/false]. [Correct Answer: False]

Electrons are smaller than atoms [true/false].  [Correct Answer: True]

Antibiotics kill viruses as well as bacteria [true/false]. [Correct Answer: False]

It is the father’s genetic information that decides whether the baby is a boy or a girl [true/false]. [Correct Answer:  True]

Social Attitudes: For each statement below, respond on the scale:

1 = Strongly Agree, 2 = Agree, 3 = No Opinion or Neutral, 4 = Disagree, 5 = Strongly Disagree).

1. I don't tend to join clubs or form associations easily.

An intact family is the basis of a functioning society.

It is right that life tends to sort out those who try harder from those who

 don't.  

Preserving citizens' personal freedom is more important than other 

goals such as minimizing terrorism or violent crime.  

 Most people make friends only because friends are useful to them.

What the current U.S. needs is a ``fairness revolution'' to

 make the distribution of wealth more equal.

Important decisions about our future should be made by experts rather

 than the general public.

I have a high degree of respect for law enforcement personnel and

 the military.

I prefer always having clear instructions from teachers or supervisors about what to do.

All workers in a firm should have input into important decisions that

2.  can affect their jobs.

Risk Perception: On a scale of 1-10 (10 being the highest risk), how serious a risk do you consider each of the following to be?

Climate Change

Air pollution

Deforestation

Nuclear waste disposal

Overpopulation

Water pollution

Food scarcity

Desertification

Carcinogens in the environment  

